LX) .«

DUNCAN MODELS DA 820-2,—-4

..

3
4
S,
8
7
&
$
10,
1
12
13
14
13
16
17
18
19
20,

2.
22
rhS
24.
28.

27.
28,

REF. PART
NO. NO. DESCRIPTION
2 KM 2N1 TIMER

KM 324 POWER RELAY (240/208V)

KE314 $8=32X1/2° MACHINE SCREW

KEI22 #6 STAR WASHER

KE333 #6-32 HEX NUT

KM383 4" FIBERGLASS SLEEVING

KM342 820, CORD STRAIN RELEF

KESO7 §8-32X1-1/4" MACHINE SCREW

KE329 #8-32 HEX NUT W/WASHER

KEO96 2 POLE TERMINAL STRIP

KC309 STANDARD BUSS BAR ASSY.

KC319 U-TERMINAL ASSY.

KE332 f0~-32 HEX NUT

KEOSO INSULATOR .

KE321 0 STAR WASHER

KMOE7 TIMER MOTOR (80 HZ)

KEJN7 #10-32X3/8" MACHINE SCREW

KE3Z22 POWER CORD 30 AMP

KM300 INFINITE SWITCH W/PAL NUT
(240/222V)

KM301 INFINITE SWTCH W/PAL NUT
{208v) |

KC189 10° CONNECTING WIRE, 18 GAUGCE

XC167 6" CONNECTING WRE, 18 GAUGE

KCIBY 12,9 COMBO WRE, 18 GAUGE

KC177 &° CONNECTING WRE 12 GAUGE

KC179 16°CONNECTING WMERE, 12 cAuq

KC183 EA PILOT UGHT

KC1356 9" CONNECTING WRE, 12 GAUGE

KC361 3 POSITION SWMTCH

CONTROL PANEL PARTS

r

@@@%

J

14]18
18

&
@<

2N

®

/ '

7~ \

>

A

' P :. 19
\

o Ly

NCm
®

&

aat]

=B
L]
L

AN

"
€T
[ e
rosvass
g

ELECTRICAL SCHEMATIC
[ —

K
I,

* w
-1

o+

[V ¥ 7\ S

208/240 VAC

80 HZ

;

§

Y




